

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-43503-65e22312199bf

VERIFY.FTGS.US Date: March 01, 2024

Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Type Air	Port of Loading Los Angeles
Los Angeles California 90744 United States	Destination Country Taiwan	Destination Port Taipe
Consignee	Export Date ************************************	Exporting Carrier **********************************
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading / AWB ************************************
New Taipei City 242 Taiwan	Owner or Agent ************************************	Forwarding Agent ************************************
Buyer (Importer)	Remarks	

Consignor reference: ACE1012.WF



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
ortex Texture DDH TIPA (10.5%) - 473ml 6x4pk case of aluminum cans	96.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Monkish, 8 cases Backpack Full of Cans TIPA (10.0%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Monkish, 8 cases	96.00 kg	United States	
oggy Window DIPA (8.1%) - 473ml 6x4pk case of aluminum cans	108.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Monkish, 9 cases			
Ego DDH DIPA (8.5%) - 473ml 6x4pk case of aluminum cans	108.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Monkish, 9 cases = OFORIGIN			
Story Walking DDH IPA (7.0%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Monkish, 10 cases			
nspired Lines DDH IPA (7.0%) - 473ml 6x4pk case of aluminum cans	108.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Monkish, 9 cases			
Zag Zig Zombies (6.8%) - 473ml 6x4pk case of aluminum cans	72.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Monkish, 6 cases			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-43503-65e22312199bf

VERIFY.FTGS.US Date: March 01, 2024

Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Type Air	Port of Loading Los Angeles
Los Angeles	Destination Country	Destination Port
California 90744 United States	Taiwan	Taipe
United States	Export Date	Exporting Carrier
Consignee	******	
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading / AWB ************************************
New Taipei City 242 Taiwan	Owner or Agent ************************************	Forwarding Agent ************************************
2	Remarks	A STATE OF THE STA

Buyer (Importer)

Consignor reference: ACE1012.WF



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
VC JIVE WC IPA (6.7%) - 473ml 6x4pk case of aluminum cans	96.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Monkish, 8 cases Vortex Texture DDH TIPA (10.2%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Monkish, 4 kegs	88.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Monkish, 4 kegs Backpack Full of Cans TIPA (10.0%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Monkish, 2 kegs	44.00 kg	United States
Foggy Window DIPA (8.1%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Monkish, 3 kegs	66.00 kg	United States
Ego DDH DIPA (8.5%) - 20L Plastic Keg ited Chamber US2100201 H.S.Code: 2203.00.0000 Marks: Monkish, 7 kegs	154.00 kg	United States
Story Walking DDH IPA (7.0%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Monkish, 2 kegs	44.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Monkish, 2 kegs Inspired Lines DDH IPA (7.0%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Monkish, 5 kegs	110.00 kg	United States



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

Buyer (Importer)

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-43503-65e22312199bf

VERIFY.FTGS.US Date: March 01, 2024

Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Type Air	Port of Loading Los Angeles
Los Angeles	Destination Country	Destination Port
California 90744 United States	Taiwan	Taipe
Onned States	Export Date	Exporting Carrier
Consignee		
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading / AWB
New Taipei City 242 Faiwan	Owner or Agent	Forwarding Agent

Remarks

Consignor reference: ACE1012.WF

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
Zig Zag Zombies (6.8%) - 20L Plastic Keg	110.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Monkish, 5 kegs			
WC JIVE WC IPA (6.7%) - 20L Plastic Keg	44.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Monkish, 2 kegs			
======================================	====		
CERTIFICATE OF ORIGIN Accredited Chamber US2100201			
CHAMBEDS FEDERATION			



-In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of

origin applicable in the country(ies) to those goods.

The information in this certificate and in any documents provided to the Los Angeles Area Chamber of

The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

Commerce ("LAACC") is accurate, true and complete.

American Craft Exports, LLC

901 East E Street, Suite 201 Wilmington, CA 90744

Invoice

Date	Invoice #
1/29/2024	ACE1012.WF

Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan

Ship To

White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242, Taiwan

P.O. Number	Terms	Rep	Ship	Via	F.O.B.	Project
	Due on receipt		1/29/2024			

MPN	Description	Quantity	,	Price Each	Amount
	·	Quantity			
Monkish	Vortex Texture DDH TIPA (10.5%) - 473ml 6x4pk case of aluminum cans		8	159.00	1,272.00
Monkish	Backpack Full of Cans TIPA (10.0%) - 473ml 6x4pk case of aluminum cans	f	8	146.00	1,168.00
Monkish	Foggy Window DIPA (8.1%) - 473ml 6x4pk case of aluminu cans	um	9	120.00	1,080.00
Monkish	Ego DDH DIPA (8.5%) - 473ml 6x4pk case of aluminum car	ns	9	133.00	1,197.00
Monkish	Story Walking DDH IPA (7.0%) - 473ml 6x4pk case of aluminum cans		10	120.00	1,200.00
Monkish	Inspired Lines DDH IPA (7.0%) - 473ml 6x4pk case of aluminum cans		9	120.00	1,080.00
Monkish	Zag Zig Zombies (6.8%) - 473ml 6x4pk case of aluminum ca	ans	6	108.50	651.00
Monkish	WC JIVE WC IPA (6.7%) - 473ml 6x4pk case of aluminum cans		8	108.00	864.00
Monkish	Vortex Texture DDH TIPA (10.2%) - 20L Plastic Keg		4	213.50	854.00 380.00 414.00
Monkish	Backpack Full of Cans TIPA (10.0%) - 20L Plastic Keg		2	190.00	380.00
Monkish	Foggy Window DIPA (8.1%) - 20L Plastic Keg		3	138.00	414.00
Monkish	Ego DDH DIPA (8.5%) - 20L Plastic Keg		7	164.00	1,148.00
Monkish	Story Walking DDH IPA (7.0%) - 20L Plastic Keg		2	138.00	276.00
Monkish	Inspired Lines DDH IPA (7.0%) - 20L Plastic Keg		5	138.00	690.00
Monkish	Zig Zag Zombies (6.8%) - 20L Plastic Keg		5	125.00	625.00
Monkish	WC JIVE WC IPA (6.7%) - 20L Plastic Keg		2	125.00	250.00
					625.00 250.00
EA CHAMPE	-			Total	\$13,149.00

ı otai

\$13,149.00